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» IW AT I T [ 59 FeTH T FRT g 16 T
797 19 &7
Please make sure that the printed pages in this
question paper are 16 in number and it contains
19 questions.

o g7 H qlieT & @ IV [/ T FE TR 7O HE F
B F-Jikael & JeF-7% U7 @)
The Code No. and Set on the right side of the
question paper should be written by the candidate
on the front page of the answer-book.

*  FYF F9T F FAT [TGT Y& FT § I8, JoT H HHH
T [T

Before beginning to answer a question, its Serial
Number must be written.
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o Fuv-giasr & T § @l 71/ 91 T 831

Don't leave blank page/ pages in your answer-book.

o Fuvgiam % SaRFT #F o dic 7@ Al o
STPTEATEr & i@ 3 frar FaT 7 #e)

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o GOl STy T To FIF-UH YT G/asT fid)

Candidates must write their Roll Number on the
question paper.

o Y g7 & FAT 37 § g7 98 GrRad &7 o [ JIT-E
g7 g @& & ThEr # W 39 G 7 #HE A aar
BT T [T AR

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G 39T -
(i) @ geT SffarT &
(i) FAF {97 H [ERT ofF @ GET RT
T &8
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(iii) F97 FE 1 F AAE (i-xvi) TGS FT 7 aer
T &1 J9% FIT 1 6 F &1 MRGEr 37 oA &

Fv o

(iv) 797 q&qr 2 @ 8 % SHa-Tgaids 997 & [

J9%F J97 2 S @ & F9F F FaT TG
30 =T @ 37fdF T& &N FIeT

(v) o7 7Er 9 # 16 % FgwEE 597 &

T9% J97 4 SJF FT &1 J9%F F FIT THTT:
60 9= @ dfeE T& g TRy

(vi) F97 &I 17 @ 19 TF T4 FTIHE J97 & 775

J9%F J97 6 3 @ & F9%F F Fa7 TG
130 95T @ 37 78T & FIeTy

(i) T FH FTUEE FoA 7 oraRE g FYAH &1
qa o7l & @ o HaT TF & Fo7 B 8

(viii) STHH G, GEIHE T G G T 97
g 7&l &l
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General Instructions :

(i) All questions are compulsory.

(ii) Marks for questions are indicated against

each.

(iii) Question No. 1 is divided into sixteen (i-xvi)
objective type questions. Each question
carries 1 mark. Answer these questions as

per instructions.

(iv) Question Nos. 2 to 8 are very short answer
type questions carrying 2 marks each.
Answer to these should normally not exceed

30 words each.

(v) Question Nos. 9 to 16 are short answer type
questions carrying 4 marks each. Answer to
these  should normally not  exceed

60 words each.
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(vi) Question Nos. 17 to 19 are long answer type
questions carrying 6 marks each. Answer to
these should normally not exceed 130

words each.

(vii) Internal choice is available in all long
answer type questions. You have to attempt

only one of the given choice.

(viii) Word limit is not applicable to formulae,

numericals and diagrammatical questions.

[ TGS 87 |

[ Objective Type Questions ]

=i qglasedia 7971 % @el ey gl -
Choose the correct alternatives of the following
multiple choice type questions :

1. () fr=fofeg & @ oufte ooy W #M-91 &N
qET R 7 1
(&) Ui o @ srEE
(3) FT@ e AT @ oTeEEE
(|) foll SRS & diedss
(3) =™ | *:8 T
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Which of the following statement fits well

with macro-economics ?

(A) Study of national income

(B) Scarcity and choice are studied
(C) Private production is promoted

(D) None of these

(ii) e agg @ Rafy &, AR a6 B oA o §

In case of Giffen goods, the slope of demand

curve is :

(A) Positive

(B) Negative

(C) Parallel to OX-axis

(D) Parallel to OY-axis
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(i) ‘vfowd & Faw, F= § 9 fho e 3 o
e fp o § 7 1
(1) rT
(3) =i e
(|) @ B
(=) S
'The Laws of Returns' are studied under the

theory of :
(A) Demand
(B) Price determination
(C) Factor pricing
(D) Production
(iv) TCET a6, g4 S5 &l X B @ ¢ 1
(&) R
(3) SR
(|) et X
(3) ¥ & #3 T
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Indifference curve is to the origin :
(A) Concave
(B) Convex
(C) Straight line
(D) None of these
(v) wF AR § o % agen & Rafy e g
Sq 1
() MC=TR
(@ MC=MR
(@) McC=TC
(7 AC=AR

Under condition of perfect competition the

firm is in equilibrium, when :

(A) MC =TR
(B) MC = MR
(C) MC=TC
(D) AC = AR
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(vi) ‘9 fas@ &’ 9€ &5 ol §, PrEd - 1

(31) agett @1 SRA B B

(3) awgstt & ITART B B

() T&1 IR & S 2

(3) awgelt @1 oM SR i 2k B
'Rest of the World Sector' is the one which :
(A) Produces goods.
(B) Consumes goods.

(C) Lends money.

(D) Exports and Imports of the goods.

(vii) T&T SR T B TR e S &l B ? 1
(&) =3 9%
(7) @i &
(w) e
(3) SW F & FE T
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Which bank is authorized to issue

currency ?

(A) Central Bank

(B) Commercial Bank
(C) Cooperative Bank

(D) None of the above
(vii) ¥ MPC = 0.5 8, @ T°T (K) & 99 &M : 1

(a) 1 @ o6

(®) 2 () 4

If MPC = 0.5, then the value of multiplier
(K) will be :

(A) 1 (B) 6

€ 2 (D) 4

ey #e @8l & ar T, JaET

State whether the following statements are true
or false :

(ix) i qo0 €% § Hi§ F Tl oKl ol 1

There is no difference between supply and

stock.
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(x) A #w FE qEdEE 5, Wy % N %S
et | S TEH Bk 1

'Law of demand' is universal, however, it

does not apply in some cases.

(xi) € @ P TI-I9E W@ F FEd D 1
Budget line is also known as iso-product
line.

(xii) STEH TH TIIH BT &l 1

Income tax is an indirect tax.
(xiii) UG AT o B WX W MH Fr B 1

'Induced investment' depends on the level

of income.

(xiv) A FHFT STEM FERT (MPC) 9 8, @ o
(K) &1 9 1 (TH) Brm 1

If marginal propensity to consume (MPC) is

zero, then multiplier (K) will be 1(one).
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(xv) HE9 @ W GDP = ®HEN @f|d W
NDP - fE@Ee 29| 1

GDP at factor cost = NDP at factor

cost — Depreciation.

(xvi) R AT T FAE 99 § <R @0 0T 8l o

There is difference between balance of trade

and balance of payments.

[ SAfT-TgRIeT® 999 |
[ Very Short Answer Type Questions ]

2. TR B BRI THE H G A BRO F & ! 2

What are the two main causes of the central

problem of an economy ?

3. 7 ife/afer awqq @@ & © 7 2

What are inferior goods ?

4, IART Bod T 8 7 2

What is production function ?

5. FHHEARE & qIRSIfEE & o9 F q93d & ° 2

What do you understand by compensation of

employees ?
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6. ‘TE T AR ‘T T’ $ A& §) ST=X SRy 2
Write down two differences between 'factor
income' and 'transfer income'.

7. NG B & & HA FABY 2
State two functions of Commercial Banks.

8. fafma & &t gt < 2
Give definition of exchange rate.

[ YAUHSD T ]
[ Short Answer Type Questions ]

9. T I H! AT frfagy 4
Explain the characteristics of indifference
curves.

10. ‘It & gie’ @ @ qied e & 4

Explain 'increase in supply' with the help of

diagram.
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14.

15.

16.

(14) 4311/(Set : B)
e T FM B ? IHH A RN-TMR ? 2+2=4

What is macro-economics ? What are its scope ?

Aad U WY (APC) &R dmra Sue gt
(MPC) & § ? 4

What are Average Propensity to Consume (APC)
and Marginal Propensity to Consume (MPC) ?

TSl & His &Y HA AT 4

Explain any four functions of money.

o ASTIR Hggeel &l Fol fee g i) 4

Explain the full employment equilibrium with

the help of diagram.

AT 7 H B T AT qaEy 4
What is Tax ? Explain main features of tax.
‘GUR QY T P AT § AR W i 4

Distinguish between 'balance of trade' and

'balance of payments'.
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18.
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[ & SAUES 997 |

[ Long Answer Type Questions ]

AN 9 N T ? AT 6 B oA A @ S H g
g B § 7 2+4-6

What is demand curve ? Why does a demand
curve slope downwards ?

e

OR
A A HEA AE R FRd 5 7 39 A & FH @
fafey & e & 2+4=6

What is price elasticity of demand ? Explain the
'total expenditure method' to measure it.

SR R Fed ¢ ¢ T WA ST 2+44=6
What is oligopoly ? Explain its characteristics.
gqr

OR
T SRR ST @t faSvand SR 6

Explain the characteristics of perfect competitive
market.
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19. TS T & AGA & ‘T [l & e &3 6

Explain 'income method' of measuring national

income.
AYqT
OR

A UM B T @ FT SNME B P 39 AT 9 Rhd
AT ST Gl & 7 3+3=6

What is meant by error of double counting ?

How it can be avoided ?
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